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::; Details of Bar Shape Length of Hooks| Total Length of Bar
Diameter @g,
ight 2[9d] =18 d
L @ i ekl adl I%D (both hooks [F+184d
f ! { together)
[Bent-up at one end only]]
2 A
et
D 2(9d] = 18d
2. i ‘@ (both hooks [/ +18d +0.42 D}
45 it together)
— ] 1 |
i |
D = Vertical distance (C/C) between bars
(Double bent-up bar)
=t og):
3. (ﬁgfﬂ:;g,"e (1+18d +2x 042D
cases)
bl r-—x——l
(Overlap of bars)
j=——0d t0 45 ¢——=] Overlap length at
- (Joint) 23d)=18d | 5 40d to 45 d) ﬁ;‘d]
[Here, one hooks
5. height = 14d) I, +2,+28d]
I 2x(14d)=28d
Il
6. J 2(12d)=24d [2(1, + 1)+ 24 d]
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